By moving just two counters,
change this:
She made two more kete in the )
second hour than she did in the [
first hour. |
She made two more in the third
hour than she did in the second, |
and so on. IEEEETERNFOT
Altogether, she made 35 kete.

How many kete did she make
in the last hour? | &

Problem Four

Tina the town planner is working
Problem Three out how to set out the new city.
' “It has to have nine

How many ways can you find to
ey Y straight streets,” she says.

quickly count the trees in Pippa’s

apple orchard? How many intersections

, , ’ might there be?
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